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Experiment 1:

Hypothesis: I predict that one of the rods will turn reddish brown and that the other rod will stay the same color. I also predict that there will be a gas formed in the beaker.

Results: From this experiment we got several results.

The positive rod started to developed a gas which we saw in a form of bubbles. The negative electrode started to change color into a reddish brown color.

When we held the the indicator paper over the beaker we saw these results:

The red paper that is meant for checking alkalis showed nothing. The Blue paper that is meant to show acids started to turn reddish.

The yellow paper which is a indicator paper that shows anything turned red too.

Experiment 2:

Hypothesis: I predict that the copper electrodes will become dirty. And that  they will start to dissolve. I also predict that the electrodes will get a higher mass.

Results: When we weighed the electrodes they weighed different. The positive weighed 17.18 and the negative 17.06. After we had proceeded in the experiment we saw that the copper electrodes started to become dark brown with a little of black. Then we weighed them.

        Before:


After:
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17.51         17.18      
             17.44       17.24

The negative electrode gained weight and the positive lost weight.

Experiment 3:

Hypothesis: I predict that when the metal has been in the beaker, it will look like the copper electrode.

Results: There where two poles. The Anode truned black. The black looked like mold on the metal. The Cathode became reddish brown, it looked like rust.

Joint conclusion and discussion

Conclusion:  In the periodic table there is a group called Halogens. They are in group seven and when they become ions they gain one electron. They then look like this: Cl-, I-, Br- and F-. These are the most reactive nonmetals.

When we put the graphite rods into the beaker with CuCl2 the copper and chlorine formed ions. The Copper became Cl 2- and the Chlorine became Cu 2+. The positive ion is attracted to the negative rod and the negative is attracted to the positive pole. This is because graphite is the only conducting  nonmetal. In the beaker there was a decomposition reaction called electrolysis.

The positive rodd  produced a gas. This I base on our results. We saw that there where bubbles on the rod. And the negative rodd became red as copper color.

When we mix a solution with a metal the metals compete with each other to be in the solution. If we have zinc sulphate plus magnesium then the magnesium will take the zinks place. This is because the magnesium is much more reactive than the zink. If the copper had been stronger no reaction would take place. This is based on the fact that the positive rod we putt into the  beaker with copper chloride solution the graphite rod started to turn copper color.

When the Cu 2+ came to the negative pole the graphite gave its electrones to the copper. Copper than get's a full outer shell and is seen on the rodd. 

The Cl 2- isattractedd to the positive pole. When the ion comes in contact with the graphite it gives the rodd it'selectronss and they go around the circuit and are given to the copper to give it a full shell. Two of the chlorine atoms bond together and form Cl2 which is a gas.

When we put the copper electrodes into the CuSo4 there where ions formed in the beaker. 

Cu 2+ and SO4 2-. After we had done the experiment we found that the anode of each lost mass andthe anode cathoded had gained mas. This is becauseelectrolysiss is a form of decomposition. Decomposition is when a big molecule breaks down into several small molecules. The copper and sulphate ions become free to move about. The copper cath ions are attracted to the negative pole. While the SO4 ion is attracted to the positive pole. 

Electrolysisis can be used to cloak metals with other metals. By letting a more reactive metal take the place of a less reactive metal.

Discussion: If we want to get a pure metal outof solutionn we can mixthe solutionn with a metal which is more reactive than the metal in the solutionn. When the stronger metal goes into the solutionn it looks like this:

Mg + ClSO4  MgSO4 + Cl

We then have pure chlorine. This can be usefull when we want to get a metal out of a sollution.

Electroplating can be used when for example making fake money. If you have nickel and want to make fake money you can just electroplate thnickelel with copper and the nickel will  look like a coin. Electroplating can also be used when making statues that look like they are made out of gold. We can just electroplate the statue with gold and the statue will have a gold color. If the people who made the statue are getting poor and need some more money they caelectrolysisis the statue and they will get pure gold. Because the material in the statue has been separated by the electrolysisis.

